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PAPERS 1, 3 and 4: ANSWER KEYS

Paper 1:   Reading

Part 1 Part 2 Part 3 Part 4
1 C   8 B 16 E 22 E
2 E   9 B 17 A 23 D
3 G 10 D 18 F 24 C
4 A 11 A 19 C 25 B
5 H 12 C 20 B 26 A
6 D 13 D 21 G 27 E
7 B 14 C 28 C

15 A 29 D
30 A
31 C
32 D
33 B
34 B
35 C

Questions 1-21 are given two marks each, and Questions 22-35 are given one mark each. The total score is
adjusted to give a mark out of 40.

Paper 3:   Use of English

Part 1 Part 2 Part 3
16
17
18

before
them / these
give

19
20
21
22
23

out / short
there
which / that
take
Every / Each

24
25

one
this / it

26
27
28

than
so
less

  1
  2
  3
  4
  5
  6
  7
  8
  9
10
11
12
13
14
15

D
B
C
C
D
B
A
D
C
A
D
C
B
A
D

29
30

be
let / have

31
32
33
34
35
36
37
38
39
40

was too old | to
prefer not | to eat (anything)
arrives | at the right time
completely agreed | with each
it is rare | to find
only one | who did not
apologised for | holding / having held
such an | unexpected way
had run | out of
will be | given out
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Part 4 Part 5
41 bit 56 mistakenly
42 on 57 European
43 √ 58 popularity
44 of 59 behaviour
45 are 60 uncommon
46 lots 61 possessions
47 few 62 intention
48 them 63 considerable
49
50

like
to

64
65

commercial
colourful

51 √
52 too
53 being
54 have
55 √

Questions 1-30 and 41-65 carry one mark each, and Questions 31-40 carry two marks each.  The total score
is adjusted to give a mark out of 40.

Paper 4: Listening Test A

Part 1 Part 2 Part 3 Part 4
1
2
3
4
5
6
7
8

19
20
21
22
23

B
D
A
F
C

24
25
26
27
28
29
30

false
false
true
true
false
true
false

C
B
C
C
A
B
C
B

9
10
11
12
13
14
15
16
17
18

1903 / nineteen hundred and three
(German) zoo
army / military / armed forces
(the) poor children
chair
arms, legs (in either order)
cry (for you)
face
box
(a) hat, shoes (in either order)

In Part 2, bracketed words do not have to appear in the answer.
Each question is given one mark. The total score is adjusted to give a mark out of 40.


